The 3" International Earth Science Olympiad

Practical Test-Atnlosphere

(Partl)

K4 (9eEE) - [ERE (SRE)

Mentor’s Signature:




H[FF AR TR TR B TANED - BBl 2 S -
To seldom speak is the essence of nature. Why the winds and storm do not last whole
day? Because the earth that manifests the winds and storm is constantly changing.
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Laozi Tao Te Chin 4™ Century BC
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In the south, there was a man of extraordinary views, named Huang Liao, who asked
Shi how it was that the sky did not fall nor the earth sink, and what was the cause of
wind, rain, and the thunder's roll and crash. Shi made no attempt to evade the

questions, and answered him without any exercise of thought, talking about all things.
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Zhuangzi Tian Xia 4™ Century BC.
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